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Sample Paper – 2010

Class – XII

Subject – Computer Science(083)
Time: 3 Hrs                                                                                                                                     F.M: 70

Note: All Questions are compulsory. Programming Language is C++.
1. a) What is the difference between type casting and automatic type conversion? Explain with suitable example. (2)

b) Write the names of the header files to which the following belong :(1)


i) INT_MIN

ii) srand( )

c) Rewrite the following program after removing the syntactical errors if any. Underline each correction.(2)

#include ( iostream.h )

void main( )

{


int a , b;


cin>>a>>b; 


int s=sum(a , b);


cout<<s;

}

void sum(const int a , int b )

{


a++;


cout<< (a+b);

}

d) Find the output of the following program: ( 2)

#include<iostream.h>

struct PLAY

{


int Score;


int Bonus;

}

void Calculate(PLAY & P, int N=10)

{


P.Score++;


P.Bonus += N;

}

void main(  )

{


PLAY PL = { 10,15 };


Calculate ( PL , 5);


cout<< PL.Score<< “ : “ <<PL.Bonus<<endl;

Calculate ( PL);


cout<< PL.Score<< “ : “ <<PL.Bonus<<endl;


Calculate ( PL , 15);


cout<< PL.Score<< “ : “ <<PL.Bonus<<endl;

}

e) Find the output of the following code: (3)

#include<iostream.h>

#include<ctype.h>

void Modify( char *, int );

void main( )

{


char * Disease= “ SwiNe FLuE”;


Modify( Disease, 1 );

cout<<Dsease;
}

void Modify ( char * D, int N)

{


for( int i=0; D[i]!=’\0’, ++i)


if(I % 2= = 0)

 D[i]=toupper(D[i]);

else if ( isupper(D[i]))


D[i]= tolower(D[i]);

Else if (islower(D[i]))


D[i]= D[i] + N;


}


f) Study the following program and select the possible output from it.(2)


#include<iostream.h>


#include<stdlib.h>


const LIMIT= 4 ;


void main( )


{



randomize( );



int points;



points= 100 + random (LIMIT);



for( int p =points; p>=100; p - -)




cout<< p << #;


}

i) 103 # 102 # 101 # 100 #

ii) 100 # 101 # 102 # 103 #

iii) 100 # 101 # 102 # 103 # 104 #

iv) 104 # 103 # 102 # 101 # 100 #

2.  a) What is a copy constructor? How is it different from normal constructor?(2)

     b)  Define a class named Admission in C++ with following description?(4)

Private members:

admno

integer (Ranges 10-1500)

name

string of 20 characters

cls

integer

fees 

float

Public members:

A constructor which initialized admno with 10, name with “NULL”, cls with 0 & fees with 0

Function getdata() to read the object of Admission type.

Function putdata() to print the details of object of admission type.

Function draw_nos() to generate the admission no. randomly to match with admno and display the detail of object.

c) Answer the question (i) and (ii) based on the following class definition:(2)

class Exhibition

{


int m_no;


char Model[20];

public:


Exhibition( )


// Function 1


{



m_no=20;



strcpy(Model, “Bio Gas”);


}


Exhibition( int  a, char * c);
// Function 2


Exhibition (Exhibition & E);
// Function 3


~Exhibition( );


// Function 4

};

i) When will Function 3 going to be executed:

a) When the object goes out of scope.

b) When an object is created by using another instance of previously defined object.

c) By the statement: Exhibition E(“ Rocket Balloon”, 31);

d) None of the above.

ii) Write the complete definition of function 2.

d) Answer question (i) to (iv) based on the following class definitions :( 4)

class book
{
            char title[20];
            char author[20];
            int no_of_pages;
public:
            void read( );
            void show( );
};
class textbook:private book
{
            int no_of_chapters, no_of_assignments;
protected:
            int standard;
public:
            void readtextbook( );
            void showtextbook( );
};
class physicsbook:public textbook
{
            char topic[20];
public:
            void readphysicsbook( );
            void showphysicsbook( );
};

i) Name the members, which can be accessed from the member functions of class physicsbook. 

ii) Name the members, which can be accessed by an object of class textbook. 

iii) Name the members, which can be accessed by an object of class physicsbook. 

iv) What will be the size of an object (in bytes) of class physicsbook. 

        3. a) Write a function in C++ to take a two dimensional array of integer as argument and display the two digit numbers only. For example if the content of the array is 





2
34
56





7
453
90





11
342
4



Then the function will print : 34, 56 , 90 , 11 (3)


 b) Suppose A, B, C are the array of integers having size m, n, m+n respectively .The elements of array A appear  in ascending order, the lements of array B appear in descending order. Write a UDF in C++ to produce third array C after merging arrays A and B in ascending order. Take the arrays A, B and C as argument to  the function.(3)


c) An array S[40][30] is stored in the memory along the row with each of the element occupying 4 bytes, find out the memory location for the element S[15][5], if an element s[20][10] is stored at memory location 5700.(2)

d) Evaluate the following postfix expression using a stack and show the Contents of stack after execution of each operation:(2)

TRUE,FALSE, TRUE,FALSE, NOT, OR, TRUE , OR,OR,AND

e) Define function stackpush( ) to insert nodes and stackpop( ) to delete nodes, for a linklist implemented 
stack having the following structure for each node:(4)


Struct Node 


{
char name[20];




int age;



Node *Link;


};


class STACK


{
Node * Top;



Public:



STACK( ) { TOP=NULL;}



Void stackpush( );



Void stackpop( );



~STACK( );


};

         4. (a) Differentiate between read() and write() functions.(1)

 (b) Write a function in C++ to count and display the number of lines starting with alphabet ‘S’      present in a text file “STORY.TXT”.(2)

(c) Given a binary file APPLY.DAT, containing records of the following class applicant type

Class applicant

{

char a_rno[10];

char a_name[30];

int a_score;

public:

void enroll()

{


gets(a_rno);gets(a_name);cin>>a_score;

}

void status()

{


cout<<setw(12)<<a_admno;


cout<<setw(32)<<a_name;


cout<<setw(3)<<a_score<<endl;

}

int returnscore()

{


return a_score;

}

};

Write a function in C++, that would read contents of file APPLY.DAT and display the details of those applicants whose a_score is in between 75 and 90.(3)

       5. a) Differentiate between SQL commands Drop Table and Drop View? (2)

b) Write SQL command for (i) to (iv) and write output for (v) to (ix) on the basis of  GRADUATE Table: (6)

GRADUATE

	SNO
	NAME
	STIPEND
	SUBJECT
	AVERAGE
	DIV

	1
	KARAN
	400
	PHYSICS
	68
	1

	2
	DIVAKAR
	450
	COMPUTER SC
	68
	1

	3
	DIVYA
	300
	CHEMISTRY
	62
	2

	4
	ARUN
	350
	PHYSICS
	63
	1

	5
	SABINA
	500
	MATHEMATICS
	70
	1

	6
	JOHN
	400
	CHEMISTRY
	55
	2

	7
	ROBERT
	250
	PHYSICS
	64
	1

	8
	RUBINA
	450
	MATHEMATICS
	68
	1

	9
	VIKAS
	500
	COMPUTER SC
	62
	1

	10
	MOHAN
	300
	MATHEMATICS
	57
	2


i) List the name of those students who have obtained DIV 1 sorted by name.

ii) Display a report listing NAME, STIPEND, SUBJECT and amount of stipend received in a year assuming that stipend is paid in alternate months.

iii) To count the number of students who are either PHYSICS or COMPUTER SC graduates.]

iv) To insert a new row in the GRADUATE table.

11, ‘KAJOL’, 300, ‘COMPUTER SC’, 75.

v) SELECT MIN(AVERAGE) FROM GRADUATES WHERE SUBJECT = ‘PHYSICS’;

vi) SELECT SUM(STIPEND) FROM GRADUATES WHERE DIV>=2;

vii) SELECT AVG(STIPEND) FROM GRADUATES WHERE AVERAGE>=65;

viii) SELECT COUNT(DISTINCT SUBJECT) FROM GRADUATE;

ix) Assuming that there is another table GUIDE present in the database shown below

	MAINAREA
	ADVISOR

	PHYSICS
	VINOD

	COMPUTER SC
	ALOK

	CHEMISTRY
	RAJAN

	MATHEMATICS
	MAHESH



What will be the output of the following query?



SELECT NAME, ADVISOR



FROM GRADUATE, GUIDE



WHERE SUBJECT = MAINAREA;

6. a) Use NAND gate to form a two input OR gate. (1)

    b) Obtain the simplified form of the Boolean Expression using K’ Map: (3)

 

F( x , y , z, w) = ∑ (0,2,4,5,8,9,12,13,15)

  c) Prove XY + YZ + YZ’ = Y  algebraically. (2)

  d) Given the truth table, write the POS form of the function F(x , y, z).(2)
	X
	Y
	Z
	F( X, Y, Z)

	0
	0
	0
	0

	0
	0
	1
	1

	0
	1
	0
	1

	0
	1
	1
	0

	1
	0
	0
	1

	1
	0
	1
	0

	1
	1
	0
	0

	1
	1
	1
	1


             7. a) How is Freeware different from Free Software? (1)


 b) Expand the following : (1)



a) FLOSS
b) HTML
c) GNU
d) ARPANET


 c) What is 3G? (1)


 d) Differentiate between LAN and WAN? (1)

 e) Write two disadvantages and advantags of ring topology? (2)

 f) Akruti Software Inc has set up its new Branch at Bangalore for its office and web based activities. It has four wings of buildings namely A , K, R , S. (4)



The distance between the wings are as follows :




Wing A to K 


40 M




Wing K to R


120 M




Wing  R to S 


60 M




Wing A to S 


170 M




Wing K to S


150 M




Wing A to R


70 M



The number of computers in each wing is shown below:




Wing A
25




Wing K
50

 


Wing R
125




Wing S
10

i) Suggest a most suitable topology along with layout for connecting all the four wings.

ii) Suggest the most suitable place to house the server with suitable reason.

iii) Suggest the placement of the following device with justification.
a) Repeater


b) Modem
iv) [image: image1.png]The organization is planning to link its head office situated in Dehli with the offices at Bangalore. Suggest an economic way to connect it; the company is ready to compromise on the speed of the connectivity. Justify your answer.
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